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ENGLISH VERSION

Instructions :(1) Que. No. 1 is compulsory.

(2) Attempt any three from the rest.

(3) All the working notes are part of your answer.

1 Find out Mean, Median and Mode for the given data :16

Class5-1010-1515-2020-2525-3030-3535-40

Frequency06101522160704

2 Find the Chi-square level of signficant 5% and table value = 9.488.18

ClassABCDE

Observed Frequency0839441504

ExpectedFrequency0724382407
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3 Answer the following : 18

(a) Two random samples are drawn from the normal population

are : Obtain estimates of the variance of the population and

test whether the two populations have the same variance.

F value (10,8)= 3.35.

Sample-1192224272418201925--

Sample-22637403530304026303545

(b) Find the correlation between the hours reading in the last

three days and the marks obtained in the examination :

Reading25383028344036

Marks65756870727975

4 Find out Median of Number of cheques deposited daily in18

the bank which has the following frequency distribution :

No.ofCheques0-3940-7980-119120-159160-199

No.ofDays0214230704

5 Explain in detail : 18

(a) Type of hypothesis and Type-1 and Type-2 error.

(b) Properties of Binomial and Normal distribution.

6 The frequency distribution of hourly wages paid to 600 workers18

is given below. Find out the coefficient of Skewness from this

distribution using Karl Pearson's method :

HourlyWages(Rs.)40-6060-8080-100100-1201 20-140

No.ofWorkers(f)1012162050

HourlyWages(Rs.)140-160160-180180-200200 -220220-240

No.ofWorkers(f)6072100120140
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